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Residual sum of squares: &'t = 101.467
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Fitted equation: § = - 667 + 1.267 »
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Follaw hint and note that £* = I* - ¥ =y Wv-v‘mzs and
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7.6 a) First no%e that A" d'lag[.k.l rlﬂ’ . 0] is a

generalized inverse of 4 since

\ o |
1 0 1.
win = | A so ML = e = A
0 0 ry+l
0
L o R
Since 'L = E }‘1'5%5% = PAP*
i=1
(Z'Z)y % .e'. PATP'

with Pp' =P'P = Ip, we check that the defining relation holds

(GAFALOAVA N CAYA PhP'(Ph P! )Pnp'

PAA™ AP

pAPt = 21

by By the hint, if Z:B'_' is the projection, 0 = 2'(_1 - 18) or

-

7178 = 7'y. In c), we show that ZE is the projection of y.
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c) Consider g, =A7'/¢Ze. for i=1,2,...,ry#1.  Then
T'.L‘H ry+l !
Z(z'7)°2¢ E i = 1 %9
i=

The {Ei} are r1+l mutually perpendicular unit length vectors
that span the space of all linear combinations of the columns of

7. The projection of y is then (see Result 2A.2 and

o~

Definition 2A.12)
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Z ( ) r lf"l ( 1 +1
9;¥)9; = q;(qiy) = .ql)y = Z{2'2)" '
i=] j=1~" ~1~) (1215151)Z ( ) y
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d) See Hint.
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-"KT.‘II! 3} Using Result 7.7, the 95% corfidence interval for the meap

reponze is given by

~ .2 o)1
[, .5 3.u] + 3.8 ﬁ .5]\- Jl ,
\- 0 .1 ;.EJ

(#) o

-.9
(1,35, 3.75},

b) Using Result 7.8, the 95% prediction fnterval for the actual Y

is given by
i} 2 o[ '
[, =51 3.0} + 3.18 ‘/1 + [, .5] 1.3} .
} o L1 lelh?
-9
(=.25, 5.35) .

€) Using [7-48) a 95% prediction ellipse for the actual Y's is

given by

7.5 7.5 [y, -2.55
¥y, - 2.55, ¥qo-.75] ol
o T oE 7.5 9.5 .75

Yoz

s (1 +.225) (E-Jz@; {18) = g3.825

£ 11z {a) best linear predictor = -4 + R

= _ [ ¢‘1
(&) mean sguare error Ty = G2y Y2z %2y = 4

(4] = M ."'E. 745
Pyix) 9y ER

(d} Following equation (7-63), we partition I as

and determine covariance of ['F
z

s Lo
- (177" 1,11 = + Therefore
i oz 1 2 1

] given z, to be




744 ':iJ"‘I':ThE Targe positive correlation betwsen a mamager's experdence
and pchieved rate of retwrn on portfolic indicates an apparent
advantage for managers with experience,” The negative correla-
tion between attitude toward risk and achieved rate of return
indicates an apparent advantags for sanservative managers .

() From (7-63)
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femoving "years of experience® from consideration, w8 now have a

positive correlation betwsen "attitude toward risk" and "achieved

return",  After adjusting for years of experience, there fs an

apparent advantage to mamagers who take risks.

" 7.15 (@) HINITAB computer output gives: § = 11,870 + 26382) + 45.22,3
residual sum of squares = 204995012 with 17 deqress of freedom.
Thuz 5 = 373, Kow for example, the estimated standard dewia-
tion of ED i ¢1.9367s% = 4906. Similar calculations give
the estimated standard deviations of i, and EE*
(b} An analysis of the residuals indicate Ehers are no apparent

model inadecuacies.
e} The 95% prediction interval is [357,228; %G66,239)

) _ 145230067 )-Tias. 2y _

{d} Using (7-17), F = 12058253 = 028

Since F {.05) = 4.45 we cannot reject H.:E, = 0. It appear:

1,17 0 "2
az if IE i3 not meeded in the model provided I, 15 included

in the madel,
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